N

OJ 3— Work Smart E
THADIE

OF2 810| 5o Lol

22| U ct&2 oiEske HseE 7le






CTERG LD




Intelo| kst 7|e 2
H3E + UAVSH|ES
52 43R S &=
22| &35} mjF0|ct.

g Intel CEO
| 12E (Andy Grove)




Ci&et =4S 71A| 4 R{CHH
02| TH2E TS SiE




=62 57 +9

0x
ool
O
T

dof 0|2 sl Zdst= 2

ojn

Of ol ZA|0fl L2 Z-dot= 23

- 2O

“J -
H H
O [ O
. M

Lot Thtre] Alo|Lt 737t BEE
st 25

2217t 43 230|Lt Y0| Ao|5tol wAsts 25

HAO|LL Aotg

=ug

43t 20| of27] h2of LAs)



9 57HX #%

o
[=]

17t 0124

2

2 0]7]0] tH



259 571X 9%




J-:l%t
Zts9| 571%| 4 2

HZ} E|l= S ojAto]  O[LE AHE 2]}
M2 Z2 et A2 AL O{ZLICE,

Different Wrong



Zk50] 571X 9

Li= Wrong Q! ZAY7f?
Differentst Z4n}?




259 571X 8%




259 571X 8%




Zt50] 571X 9

230} 1) S 220 H e
22| 23 A3l2



k=0
2b=0| 57LX| Q%

W
A i SA] H3tZo] 0[0p7]
)

T
S22 Ao o= Ploff

E[- o=
_.I__OF I/(I-EI"= ﬂEKI‘




Of] AFEr=0] ok 0l 204

oS 515 32 MAl

- 1 -d




9| 57HX +%8

25 offZoff
0lZ

oFf
=]
2|E

o3
o

|

0

T

I

CIY8=s EO=
afd



9] 57HX| /%

B

=
o

-




ET 0|9
459 57tX 2%







250 571X 9%

B Ad

4 4% 27

2| S

HFS
oo =

— o I —

- -

H
|
e
v
b
-
b
e
=
ol




Zt50] 571X 9



O

Z159| 57HX| 84

Zero Sum Game




252 57X 9%

fo}7|

|

-

=

Solution

f

O,
.

!.

oJd
=k,







ﬁ'—ﬁ-ﬂl 57 7% i




459 57tX 2%

SHEAH S8k 7kA|Lt
12| 20f| Chsl sS4 3% 2



259 571X 84

oA

TH|SE2 S Z0| 04 ofZCt



89
ofF
3
~

LA
i
U

niU

O
1
wr
E
Ko

Klo
Kid

go



9| 57k =%

2
i
ojn
B0
=0
ol
S
rip

o 8341}
Metag Z3512)

s

ook StM3 0|2 22|

422 713}



2o
oF
3
~N
LN
fo
U
nit




252 57X 8%




2¥s59| 571K 8




2159 57HX| 9%

HIztols 2

I_.I......

29 2o iEA2 =M T/80I= 2




20
ok
3
N
LN
fo
U
!




2452 57X 8%

©
A QULE
s 00 o _uk

FAE FH7L = A




Z59] 57Hx] % 5

(U vs HASA0] B9

SME2 KPIFH
\ 0]2E0] o
£ 0|9 227|202 By}




452 571X /%

02| 20z
- WISEA|LCH,




r,z.__l'%ﬂl 57 7% |




Zt=o0| 571X 9

ol 19
IHABIA|E? st
0 P P\ esiec

OkQY| CHS
AFOHOf| LSt M2 CHE 5 4{0] Z5= 72



2152 571X 8%

Faf.t X Interpretation = Story
Ata o4 2AEC

iAo Ut 2




2452 57X 8%

[ 2|2} o2 FE[LLS] ZHEH 0[0}7])

N\ 2% gl 20| 230 Cife g2l =5

\ QAL tirEt= 7|BES MIF7I2 28




2452 57X 8%

[ 2|2} o2 FE[LLS] ZHEH 0[0}7])

\ OtERE|Lt Z0F B2t = Q| A0 O S

\ 2| 6{20] %5}




2452 57X 8%

[ 2|2} o2 FE[LLS] ZHEH 0[0}7])

“Ofl~'=0] OI2JE|Lt Z5
HfZtE = A2 OfEE| L7}

OF2] C| £30] S2t30F & LI2f0]7] ="




Zi50] 57HX| QYo W2 UGy

N
S
Ofp
11
(]|
ofm
o
rlo
MR
K
=)
o
rlo
N
ofN
_ﬂlﬂ
|

St o
1 . N
o [ o

A (B EZ) A
Atotg | ﬁllé*.ﬁl)i'lh .



